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B.A./B.Sc. 4th Semester (General) Examination, 2023 (CBCS)

Subject : Economics
Course: CC-1D/GE-4
(Features of Indian Economy)
Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any fen questions: 2x10=20

@ (B WG AN Ted nie s

(a) Mention two major characteristics of underdeveloped economies.

v SeAfes v duim ey S I

(b) Which economic sector generates highest share in NI in India in recent years?

WWWW&WWW@HWW@WWW?
(c) Distinguish between Direct tax and Indirect tax.

ofeTE B4 €3 AT FEA WY ALH T
(d) What do you mean by non-plan expenditure?

sifrse ARGT T S @7
(e) Mention the scheme initiated by the GOI to address declining child sex ratio.

o Egd fae fet-sRpeies oy T G SRS FASR Tl RS A A S
= |

(f) What do you mean by indicative planning?
IO AT TS @2

(g) Define Dual Economy.
Tae wdNfes Few WS |

(h) Write down full form of NABARD and its most important function.
NABARD-&3 =@ @it @ sfisrs ewgef o @l

(i) What is the full form of MSME?
MSME-2 7tz 2aifs &7
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Define reverse repo rate.

Reverse repo rate ¢

Why has Mid-day Meal Programme been implemented?
fre-o et emmfs s v TR @7

What is the full form of TRIPS?

TRIPS-93 #za1 2 §»

What are the obstacles in the expansion of exports in India?
SRS A TR v B D A 7y

Mention main arguments in favour of privatization in India.

m@v{mﬁwmﬁwq%w%@mwml

2. Answer any Jfour questions: 5x4=20
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(b)

(c)

(d)

(e)

)

Explain, in brief, causes of Jow productivity in Indian Agriculture,
SRR FRT T Seomimmern wraef FRUFCA AR B |

Briefly discuss the functions of the RBI.

TRCFC? RBI-43 i<t wimzsmss =y |

Citing examples from different industries describe the state of industrial sickness in India.
Rfen Fem Swraerreai sire fEmare s 2o 2

Briefly explain the main reasons for unemployment in Indian Economy.
eI weRifere (PR T IR Arwe e e

Re-evaluate Green Revolution in the context of current agricultural scenario.
refereie IRTwan Swrm et e Reza safamm wm
Discuss the difference between import substitution and export promotion.

S sfqqeer e qenfe Teaform wry siefzy S=nore ==
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3. Answer any two questions: 10x2=20
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(a) Explain the progress of poverty eradication programmes in India.

SRS WiE FAERd Fep S g w |

(b) Explain the arguments in favour of land reforms in India.

SIS o AEER o el et s

(c) Discuss different sources of revenue of State Governments in India.
T e FRTRelER aeTae [fen T A wiEsar F@

(d) Briefly discuss the banking sector reforms introduced in India since 1991.

TS 1991 e (2F 2T e CHET AHT FHE FCH QEDA A |




